cw15:user:(misc)sd1165

LLIMOOKE 7866753

DFAPEF ADEN

SUPERVISED BY
DESIGNED By
CADD OPERATOR
REVISED BY

DATE

RIGHT OF WAY CHECKED

SURVEYED
PLOTTED

PLAN

NOTE BOOK [AUGNMENT CHECKED

NO. o

(——»A

12'-0"

4‘”‘8 1/2:;

,_ 2'=7" Nominal

4_1__8 1/2::

s Keyway

1.3/4" @ Bolt Holes
1 or Alternate Slots 1
M

A

2'~0"
v
P

R A S R T R S = U]

e T T =

J
SIS

: ¢ Bolts or

Thraadad
L

Reada

2(1

TAVINASTTIYVALD

6'—

Oll

PLAN VIEW
(MALE SECTION)

Optional 1/2"x 1/2" chamfer

3/|4" = = 3 /4"
. ——t+—Barrier Vertical Panels

_~—A Barrier Delineator

B ///
, F;? [ |4 Reinforcing
- - A ’
i3 el _l—10R
I e — /A
o i} AN\ |— Keyway
s PR * . A

Srael
SECTION A—-A

(BARRIER VERTICAL PANEL & BARRIER DELINEATOR SHOWN)

1/2"R 1/2"R

d;!m‘z ‘%il

Keyway

1/8”*"" e 1/3:1

END VIEW
FEMALE SECTION

Edges and fillets
of keys have 1/2

1/2"R
HR J
T~ Keyway
1/8" - pygn 1 3/4"
—7 1/4"
*7 1/2"—=

END VIEW
MALE SECTION

BENDING DIAGRAM

ALTERNATE TOP

41/2"— | 4 1/2
=l
Ay T
: 3
H 'e]
N <+
) 1
r‘;) A
« # 4 Bars
9" # 4 Bars
3'—0" Length
4-8" Length, 2 1/2" Pin @| 4 1/2" Pin ¢

Dimensions in bending diagrams are out—to—out

of Bar,

O % X =

- prevent chipping during placement. (Approx. 1/2"

REVISED FHWA - FEDERAL AID STATE SHEET NO.
DESIGN FEATURES RELATING TO CONSTRUCTION . Iy REGION PROJECT ROUTE PROJECT
o o [QTEUAIONAD SN E B - L1- 9 .
. MAY UBJ C /- Y-£05 .
10 NECESSARY BY THE DEPARTMENT. /|00 080 FO5, R
211" 6“ *2” 3 VA. fkj‘gu{j =
C-50¢

Bolt insert for
Barrier Vertical
Panel

A Barrier Delineator to be installed
on traffic side.

oncoming traffic. \

Edges of male section to be rounded to
Radius)

Male End—1/16"+0" tolerance and Female
End—0"+ 1/16" tolerance.

Optional tongue protector may be provided by
the manufacturer. The tongue protector may be
full or partial and must meet the approval of
the Engineer.

Conc. 4000 psi. (Min.)

Welded Wire Fabric may be one sheet bent to
fit configuration or two separate sheets—one on

each face, 2'"'x 2'—=7" Nominal

Drainage Slot

Anchor system shown in detail "A" shall be
tested to provide a minimum pullout of 32,000
Ibs. and installed according to manufacturer's
recormnmenddtions. ‘

After removing temporary barrier, cut 7/8" @ bolt
or threaded rod as low as practical below
roadway surface and fill recess with epoxy
bonding compound EP—4 (Detail "A")or

remove 7/8" { bolts or threaded rods and fill
holes with grout bonded with epoxy bonding
compound EP—4 (Detail "B").

TRAFFIC BARRIER SERVICE CONCRETE

MALE SECTION

(FOR TEMPORARY INSTALLATION ON BRIDGE DECK EXTERIOR)

VIRGINIA DEPARTMENT OF TRANSPORTATION

Barrier Vertical Panel

¢

Bolt insert for

A Barrier Delinegﬁtor
i Il i !

to be installed on trsidg #4 Bars to %)
surround 1 3/4"
@ hole or slot
Lap #4 Bars 5\’“\%

2.
' Top of Deck o
All ends optional chamfer / ==
(1/2"x 1/2") 1 3/4"Dia. or
Slot Detail
1 3/4"Dia. i /Bottom of Deck
| ’::/ A

31/2"x 3 1/2"x 1/2" Square Washer
(A36 or A572) with 15/16" @ hole. At
the discretion of the Engineer, a larger
washer size may be required if spalling

is evident at bottom of deck.
DETA“_ an

1 3/4"x 5" Keyway

Threaded
Gr.B7).

l B each end
¥ | All ends optional charmfer
o u k (1/2"x 1/2")

) | 4" 4" ! Grade 40 Reinforcing Bars 2"x 2'=7" Nominal
o0 ! - ! #4 Bars @12" Drainage Slot
o I ro13/4n 6#4 Bars

= I Fh — 2" h ' E.F.

= i i *

i P T !"’ "i ““““ ] 1 r----- i“ “{ ”””””””””” L U A gegidedjmr@;qbri; e 1 1/2" Clearance (Min.)

" i H ' i 1" X8 ~W 1 4x Www Al 7 1 4
2 '] é 'I ' * 2" L or grade 40 reinforcing \"4‘) ﬁ4 Bars
bars. e eyway
FLEVATION VIEW 31/2" 3 1/2" 1/2" Square Washer (Detail "B" shown) Soft Hole 5 SEE DETAIL "A"or"B" 1 3/4"x 5" Keyway
FEMALE SECTION LA "
( | ) ° " N S : ‘.". \ AN T FEMALE 31/2"'x 3 1/2"x 1/2" Square Washer
53” #4‘ Bars 12'"c~c - —— #4 Bars e 12" ¢c—c¢ L@.._ - S U - .0 SECT!ON (A36 or A572)With 15/1 6" @ hole
or 6X8“W14XW 8WWF or 6X8”‘W1‘4‘XW SVVWFI 2u+ 1/21: HOrZ Steel / \“"""5
; - ' Concrete Bridge X ]

Female |4 1| Clearance Male Deck ? — 7/8"  HS. Bok  (A325),
Horz. Steel | - \ i x or 7/8" @ Doum?AEn1d98:'?
Clearance 1/2" , " Rod & Hex Nut -

: \;\ ‘ SECTSON B — B #4 Bars to 15/16" 8 ¢ / f:%cbh%rciga%chble with type of
! - 1 1 FH > .
. ~ (ANCHOR BOLT) ~—5 1/2"—~ surround 1 3/4 jameg | T~
: A . : 2 hole or slot — =
f m ™ N\ Optional Bolt down side adjacent N 1 W pald -
e T A 1 I 1 \SteelTongueO to troffic. Lap 4 Bars — '/ Clear {5
/ protector ' ? N L1 1/2"x 3 1/4" slot in parapet 1 3/4"Dia. or ~ - 8
Keyway dinage Sl ¥ (O 7| Top of Deck | 9 Detail " )
g ¢ ~1——3 1/2"x 3 1/2" washer w/ 15/16" @ hole
(HALF SIDE VIEW)  (HALF SIDE VIEW ores
FEMALE SECTION MALE SECTION Barrieg Delineatog is to 'it:)heS fon 702
spaced in accordance with Section
REINFORCING REINFORCING of the Road and Bridge Specifications.
Barrier Vertical Panels are to be spaced in
accordance with the Virginia Work Area Protection Manual. -
c
2 1/2"% Cost of Barrier Delineator and Barrier Vertical Panels ALTERNATE SLOT DETA““ S
r 3/4" to be included in price bid per linear foot of Barrier Service. : Bottom of Deck & )
" N Anchor bolts shall be installed on traffic side. LA
*2 1/2" o » 1/2'R Reflective surface, in all instances, to be facing DETA“.. A

31/2"x 3 1/2"x 1/2" Square Washer
(A36 or AS72)with 15/ 16" @ hole

e 7/8" @ H.S. Bott 8c Hex Nut (A325),
or 7/8" @ Double Ended Threaded
Rod & Hex Nuts (A—193 Gr.B7).

Rev. 5~10-91

PARAPET (DOUBLE FACE)

SPECIAL DESIGN SECTION

DRAWING NQ/ABB“

i T LA

07/03/90 18:30:09

PLAN NO. PROJECT

A 00I1-080-F05




